Pre-Calculus Quiz REVIEW
Section 2.1 to 2.3

Hour:

Evaluate—Wiite answer in a + bi form.
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4)) Given the function: f(x)= x3+x2-2x+1, use the
intermediate value theorem to determine if there is
a zero between - 3 and 2 (Show all work)
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5-6 Fill in all of the requested 1nforrnat10n and draw a graph of the function.
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9) p(x) =x3-7x2+10x . x(x*-Tx+/0) .,
a) Find the zeros by factoring. *(x-5 LX/ z) s
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e) Graph the polynomial function
8)px) =x(x-2)%(x+4) +y
a) Find the zeros and state the multiplicity of each. ®
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e) Graph the polynomial function (1,5 ) ‘
9) When a football is kicked, the height of the football, in feet, can be m _dele,d by
Jf(x)=-0.01x* +1.18x +2, where x is the horizontal distance, in feet, frogkw the point of impact with the
kickers foot. What is the'maximum height of the punt and how far from the oint of impact does this
occur? If the ball is not blocked, how far down the field will it go before h‘t g he field?
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